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7"01
Intro

Today we will 7”pa learn 7"y 97 of pwyTR NoON
Some of the topics we will learn about include.

227 5V PIBRI WHW

If twin boys were born and we don’t know which one is
the 7153, the firstborn; either one of these three people’s
testimony would be accepted for the identity of the 9133, in
which he is entitled to 0’1w *9, a double portion in his
father’s estate:

TR

n

IR

MR

The midwife, his mother, and his father;

The Mishnah’s conclusion of

DINW RIR

TITLPINWS RN 1

9Rw Rax would refer to a 'pinw as a 173, as the Gemara
explains

NHY23 T DUNRIIBR DR PRIV

TINRI

If his mother confirmed that the 7x'a2 was from a 7w>
person, her testimony is accepted and the child is consid-
ered a qw>.

The Mishnah's Halachah of

5Apa Ra> pMoRa 5

13 7 R DI

All groups who are forbidden to marry into 1 57, are
permitted to marry each other.

And the Gemara explains that the Mishnah refers to one
of the following:

1.

DN RV

Whether a 73 is permitted to marry a nno;

2.

IDIARD NOH

WR DOURD 1O

There are two sorts of 01; one born through the
transgression of 1mnX which is only punishable with n1>;
and one born through the transgression of v’k nwX which
is punishable with 7 2 nnon.

There is a 5 whether the child of a forbidden union
of mmo a7 is amon.

3.

TARMININY N

ARy man who was 973, and may not marry into
1577, is permitted to marry a Doy,
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AT P
. So let's review ...
The Gemara in the previous Daf mentioned the Braisa's ﬁ?:\‘? HPD ‘71]: ]?QNJ
Halachah of ) 9 9
e NRoM PR 91 snon b
MO PR N0 W Iftwo people had an argument as to which one
If two people had an argument as to which one had purchased an item from the seller

purchased one item from the seller; and as the Gemara

explains The Gemara explains. . .

NN OPIT

TIN2 SV T ORNYTH 77 MR N719N0 UPJT

He received payment from both people, and he testifies MmN l’l’: TM AIRNDYTN TN IR

that he accepted one person’s payment willingly and the He received payment from both people

other’s payment against his will. and says that he accepted one’s payment willingly

It depends;

1TINPHY 12

ORI

If the 90w still has the item in his possession, we accept his 72 TnPD PN I’:R LLEE 'InPD'L’J ]Dt:

testimony that he sold it to one person and not the other; OR1IPR PR]

because as Rashi explains; However, if the 1om If the 2w has the item in his

WA KW PP 0 107 no longer has theiteminhis ~ possession, we beleive him,

yow n ['"77 DT o possession, he already as Rashi explains..

The PN is partlcular. and makes sure to remember, since it delivered it; we do not accept b PE D7 DYDY 90

is incumbent upon him to deliver the item to the true npb. his testimony, because A

Otherwise, he would be retracting from the sale and M5 ’)9:) &5 DODOE W3 O Op7

become cursed with a yiow . N The o makes sure to
. 21515 PY7 K D remember, since he must

12PN PR DR deliver the item to the true np.

TPRIIPR Otherwise, he would be

However, if the 9o no longer has the item in his posses- retracting from the sale and

sion, he already delivered it; we do not accept his become cursed with a vow .

testimony, because

Y MR

N PIRYIN
The 991 is no longer particular to remember who it was,
since he no longer needs to identify the true np>.

Similarly

A T ORI

NN W T Y Mo 177 1PR]

105 DTHY D737 5PV MM NTN MNOT NTH
Iftwo people presented their case before a 17, a judge, and 1,:95 DTN DT "7}’3\’)9

he ruled in favor of one of them. If they were both still
standing before him, we accept the 1"7’s testimony that he
ruled in favor of this one, because

5715 75 1 If they were both still standing before him,
we accept the 7T’s testimony that he ruled in for this one,
P19 DT 0375V PR DIR because - 32Tmb mby M
TPRIIPR
If they were not standing before the 7 anymore, we do 1,39', o> TNIY 027 ,byn ]’N I?:R

not accept his testimony, because
73705 PHY MRS

PRI IR

________ Ifthey were not standing before the T anymore,

we do not accept his testimony, because
TS by M) RS
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. The Gemara continues with other types of minxi:
1327 MR ) P I

M320 HY PINRI NVHY

5377 5y padRI nwbw

If twin boys were born and we don’t know which one is
the M>3, the firstborn; either one of these three people’s
testimony would be accepted for the identity of the 713;

N either one of these three people’s testimony
PIR would be accepted for the identity of the M122.
SN
The midwife, his mother, and his father; MR - 1P72AR - NN
rn
TNy naw 5> Do) DN
The midwife's testimony is accepted only as long as she The mather’s — Hig f@fmnyzwmgafe/ Her testimo
did not yet leave the child. festimony i 0 %,m,, the W/y /ﬁ?, w accepted o
;?:;)Z;W 5y MC@P«? 66// /»7/ f/b& %mm/ f/b@ 3)/_/)/7,) JM /L&/Mf
The mother’s testimony is only accepted during the first jf sever 199505 1951 S beave the
seven days, while the child is with her, because as Rashi WW the: The bather iv then
explains with her : i
12 950 AR ]7N ]v7~n}w 1’316 1’ﬁ ]”7D§ oé@afe/z‘o M/WA%?/
The father does not recognize him yet. 33 9951 which one & the /9P
R mi==Fa )
The father’s testimony is accepted from the eighth day and recognige him yet. RICI O T:
on when he accepts the child for the 751 013, because, as p’?/),&’{//?f_)’
Rashi explains

. TP POV Hom
The father is then obligated to identify which one is the N2 NT 7)9)5 DTN » ND

7103, as the Gemara cites the source in the Pasuk
P2 ARNWA 2O NND

DMINRS 1Y

He shall make him known to others.

AT 227 DR IROD

22732 7 M5 DIR ORI

A person is believed to identify one of his sons as the
first-born.

A
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The previous Mishnah concludes with

DIRW RIR

PITLINYY R 71

SRW KR would refer to a 'pinw as a 173, as the Gemara
explains

MHYA1 TWIS NN IR IR PRTIAY

TINR]

If his mother confirmed that the nx°a was from a w>
person, her testimony is accepted, and the child is consid-
ered a w>.

As the Gemara explains, “Rw Rax concurs with 5R05m2 127
in Masechta m2n3 in the Mishnah’s case of

192D SW 120 710 12 1R DN AN

If an unmarried woman was found to be pregnant, and
they inquired about the status of the father - And she
responded;

NI 71090 WR

He is a person who is 90

DR TYOR 727 HROMA 127

IR

She is believed.

However our Mishnah also needed to mention this
Halachah because

71 PWwIn> RN

N33 YWY RTM

58513 127 holds naoR3 only regarding herself, because she
has a mw> N, while )Rw Xar holds Nk even
regarding her child who has no mw> npin.

And even according to the opinion of

73 WIRT AT

N2 YW

That 58512 127 holds nanxi even regarding her child;

AOXR PIWI 2177 ONN R DN KT

RIZ RY RIPR D3R PYI09 2177 R1 IR

58513 127 holds naori only regarding a 719, in which the
majority of men are permitted to her, while “xw Rar adds
that she is nyX1 even if she was an 70198, when the
majority of men are forbidden to her.

R17 IR
DIRW RIAND 719577

DafHachaim.org

biNe NON
IR PR NP

5INW R2N would refer to a'pINY as a’piT2
as the Gemara explains

MDY IWID NIVINIIDN DR PPTIY
NIDNI

If his mother confirmed that
the nv2 was from ayw> person, her testimony is accepted,
and the child is considered a yw>.

5Rw RaN concurs with bxbpa 127

NN NN
DT 92 bw 120 N DD NN

If an unmarried woman was found to be pregnant,
and they inquired about the status of the father.

And she responded;
NN 021 15D WIN

DIDIN TYOR 12 SRdpa 11

NIPVNI

She is believed.

£P) I

58w NaND nobn
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Zugt Di Mishnah
5P 1D PIORT DI g&/
T RIY OIn

All groups who are forbidden to marry into 1 57, are
permitted to marry each other.

AOIR TN 2T

7mi °27 disagrees and says they are forbidden.

The Gemara at first suggests three possible explanations
of this Machlokes but then rejects them:

1.

7T 27 says that

5npa 835 PMORI D

Refers to

A179 513 K315 DTORA D

NIIINPIND

The Mishnah refers to a n), who is forbidden to marry a
Kohen, and the Machlokes is as to whether a N7 may
marry a Wn» or other 109, as mentioned in the Braisa in
the previous Daf.

The xnp Rin holds like "oy 29

M2 R PID

A nIr) may marry a 9, and vice versa, because

5T PR RS O SR

o are NOT considered 11 57p', and therefore are not
included in the prohibitions of o"»09.

JOIR 17 )27 as he does in the Braisa, because

SR IR DM 5P

04 ARE considered 11577, and are therefore included in
the prohibition to marry a 5109,

2.

RVWIT 72101 27 says that

5npa 835 PMORI D

Refers to

M2 DR RWD MOR 170w D

NI RWIW IR

2PV’ 12 MY'HR 29

The Mishnah refers to a 72 and n) whose daughter is
forbidden to a Kohen, as 2py’ 12 5% 127 holds that a
Kohen may marry a 03 n2 only if her mother was a na
587w; and the Machlokes is as before

The x»p Rin holds

A RIS I

A 7 may marry a Wnn

Because

5 PR RS 0 Hnp

While 7018 7777 217 because

SR PR D SR

Dedicated By:

DafHachaim.org

5rpa 825 PN 9o
e 8aY omnm

All groups who are forbidden to marry into the bwn bnp
are permitted to marry each other

0N TN 029

1
D7/’ PI

.
brma 825 1 o8m 53 )2y 4
nNn> ? e
The Machlokes is as to whether a nm2
may marry a 3nn or other M5DD

D7/’ PI

0N

As he does in the Braisa,
because

5np MR D3 dp
DMA are considered Dwn bnp,
and are therefore included
in the prohibition
to marry a hpo.

Q) P - )(_717') )(_r\//,
ma mRah e

A M2 may marry a NN
because
5np MpR RS DM bnp
DMA are not considered
pDwn 5np,
and are not included in the
prohibitions of D IDD.

2
£V 935 oy A
W

Srpa 82 N 9o

N2 DR R DN 0w 5o
DIPI NPIW 721 IND)

that a Kohen may marry a D2 N2
only if her mother was a SNy N2

D37/’ PI

pl=)}]

Because
5np MR DM S

Y
pi=EaiR =rhanin)ia

A may marry adTnpn
Because

5np MpR RS pMa diap
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3.

13R 927727 X M 27 says, the Mishnah does not refer to
a7, but rather to

IARD WO

WR NWRD N

There are two sorts of 01; one born through the
transgression of ymnR which is only punishable with n73;
and one born through the transgression of w’x nwx which
is punishable with 17 n°a nnw; and they disagree as to
which transgressions produce a mmn.

The xnp xin holds

5npa K2 PIORA D

IMARD WD 1OR

N MM

Even mn»13°27n produce a 9vn. Therefore
fpi=alg=kaislisYapib

The w1 and the other 0509 are permitted to marry each
other.

While 708 77177 °27 because

TNNHH N WR NWVRD

WM NN RO IMNRD

Only 7”2 nn1» 271 produce a 1w, but Min’15 1m0 do not
produce a 71m; for example, a 1MnRD R, is not a M.
Therefore, a product of a union of mn»>°37n and one of
the other 05109 are forbidden to marry each other.

DafHachaim.org

3
DAL P DRI IME M P

brpa 82 1N 92

1IDNY ITHH
PN NDYNN IMOD)

There are two sorts of DTN

One born through the
transgression of WIN NYN transgression of 1MNN
which is punishable with which is punishable with
PT I DD n»

P
brpa 82 ponm 9o
ININNY DD IDDN
DL ARIDRIAD

Even mmnn> 1nn
produce a ymn. Therefore

M MM a9

A oD and other D5DD
are permitted to marry
each other.

One born through the

D3/’ PRI
SOW PN 92

brpa 8ab

MHOH NN PN DYND
IO NN RS IMNND
Only T"2 Ny 127N
produce a THN
but MNNI 121N do not.
Therefore, a product of a union
between mnM>1an and one of
the other p5po are forbidden
to marry each other.
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The Gemara however rejects all these explanations, and
concludes that there is actually no Machlokes, and the
Mishnah

5pa R3S PMORI D

Refers to

IR 1Y N

A axim 1y man who was 773, who may not marry into
1577, and the Mishnah is understood as follows

AR DY D

M2 RIS P

A npy M is permitted to marry a 0wy, or other 100,
And even though

ORI 727

nwHNIN

17 17 holds a 1) is forbidden to marry a nmn

5Apa RIS IRIT N

MON

The Issur applies only to a 73 from other nations, who,
according to 77 17, IS considered 1577, since he may
marry a YR’ na.

PRI IDY M DR

RS 512 2D IR PRT

However, the Issur does not apply to a 7 from axm oy
who is NOT considered 1577, since he may not marry a
ORIW’ 2.
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However, the Gemara rejects all these explanations,
and concludes that there is actually
no Machlokes, and the Mishnah

5rpa 825 o 5

INID) DD I
A N1 Y man who was I,
who may not marry into DW bnp

The Mishnaks i understood as /o%wy
YN WY 2
2 M 8ah o

A0 )2 is permitted to marry a DOV or other DISIDD.
And even though

W AT 29
altalakRyki

DT 12) holds aJ is forbidden to marry a DTHD.

NN IDD I 7
5npa R25 vy PNT bnp2 Na5 1mT
N 7DN
The Issur applies only to a2
from other nations, who is
considered bwi 5np,
since he may marry
abzw m.

However, the Issur does not
apply to a3 from anm oy
who is not considered 5np
pwa, since he may not
marry a 58w na
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